23.

24.

Gereumd AUyt @@ cuaflamenwg. 31.12.2000 prGeri(
wyamLwb SarhEGiu yelmeans sarsd(s. =
© 1.11.2000- 31.10.2001

. o
Ayrésib . 200 500
Gura& 1,800 2,500
sreflmuy 6,000 - 5,000
QUYISD SansEGEH6T 11,200 12,000
Aur®sgIBOET 2,800 2,800
Qupdlyd 18,000 17,200
CFQISFIBD HTEGSSET 6,000 4,000
peufiib Qupp sL6r 4,000 4,000

D[S ég;,s&mnré st ddlapsiu@siu smbsah s @, 5,000
Guogyth el IS GaTNIE@ 5. 500 aisb aGlus Asnamswuns
aB\bsE Qsremrn. parUfliin Qupp sLasE ellss Galarigw
Baeal aully . 120. BUISGGLET GHISE 10% SIgInSlHs.

What are the causes for discrepancy between the balance as per
the cash book and the pass book? ) :
Qrrés i@ Qoudpend wopd  CFaColl QnLdpEn
@rTuT® FHUGEUSHSTEr STTETRIGET LT ?

Mr. A purchased a machine from B Limited for Rs. 5,60,000;
payment to be made Rs. 1,50,000 down and three instalments of
Rs. 1,50,000 each at the end of each year. He depreciates the
asset at 10% per annum on written down value method.

Because of financial difficulties. Mr. A after having paid down
payment and first instalment at the end of the first year; could
not pay second instalment and the seller took possession of the
asset. Prepare ledger accounts in both parties.

Am A  aauer B dllligln  @Qupdib g @ar

th. 5,60,0006@ Qerdrupssd Qelsnr. el eLangs Cgramswuns
. 1,50,000 @b Guogib EpeTn Se@ETEETTE < a@m6lLTanIHE
fp. 1,50,000 aiglb Gagssdlprr. et Qersdar bs arbhss
10% Csuwragdmar @opps Qed  wHuy  gpepuiie
<siaodsdort. Hm A oLenms Ggrems wHHID wpsH Soimen
Qesgdlpmr. Bl Grésamensermed ojauimed @lyamLmb  Geuememr
Qegss @uasildama. eigarmd elbumaurert Gersdamar oo
aBdss Gerarint. @@ srount ghsefigud Cerarpid GLGHLE
sandGsamar sWnflés. :
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Time : Three hours

4.

10.

'HEUEERT ETETDITED GTEHTET ?

Maximum ; 75 marks
SECTION A — (10 x'2 = 20 marks)
Ans;wer any TEN questions.
State the meaning of r{on-trading c,oncefn:l
@ G‘r_r,rré;asy_f)_,r_r) SMWLIL eTaTUSET CLITHET Fnms.
What are the contents of final accounts?
Qmid &ewrdEsaet 6 ac;iwﬂ_ésa;réwsm mngj ?

Write the meaning of written down value method of
depreciation.

Gophg Qeed UL Csuimear weapuler QU eTPs.

.'What do you mean by Average clause p.olicy'?

eynefl er58 Qsneatans eremugen QLIT@mET W) ?

Mention any two defects of single entry system. -

ghepl ude; weapler Gapurhsd gCsaib @ mands
GNUGGHs. ' b

What is single entry system?

g@piiLfe) (@D aepre réar?

What is suspense account?

DATDSF| SN CTGTHTED CTEHTG 2

Give the meaning of BRS.

BRS eraiuger Qurmer sms.

What is partial repossession?

UGS B eratmmed erebren ?

What is in§talment?

Qr’m Vs o



11. What is balance sheet?
Quyfleas GO ereTpmed eremer ?

12. Whatis receipt and payment account? /
Aunged eQIssIHD saTéHE G GTEITGI ?

- SECTION B — (5 x 5 = 25 marks)
Answer any FIVE questio}ns;

18. Prepare trading account from the information given below :

Rs.
Opening stock - - 3,600
Purchases 18,260
Wages 3,620
Closing stock ' 4,420 ,
‘Sales ' . 32,000
. Carriage onvp“urchases 500
Rent (Factory) . 400
- Sales returns 700
Purchase returns © 900
Spsramid ssesdsmers Qarah  eHumunys a;mwaﬂmm swmir
Q&ws. :
a ( @
Asr_&s sr&smLILY 3,600
Qarerapged 18,260
P - ‘3,620
Dnds &uaseﬁl@uu 4,420
dipuear . 32,006
. Qarerapsedr Wamen gomés Qewaey 500
aurLens (Agmpberene) 400
dipuemand Houud 700
Qarerpsed ﬁ@uum 900

S

14. What is need for preparing a Balance Sheet? Explain.
ouy fees giluy sunfluear Geames wiigl? eflaréEs.
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21.

22.

On 15.2.2001 a fire occurred in the premises of a company. From
the following particulars, ascertain the amount of claim to be
lodgéd in case of stock which was insured.

| ' Rs.
Stock on 1.1.2001 4 : 1,00,000
Purchases from 1.1.2001 to the date of fire 1,50,000
Wages = : * 50,000
Manufacturing expenses ' 30,000-

Sales from 1.1.2001 to the date of fire 2,40,000
Gross profit is 25% on sales: i

The stock salvaged was valued at Rs. 19,600 :

@ Hpeaasded 15.2.20016 § Gﬁugg] gHULLg. Demaimb
flupiiseers Gerar® srile Gsuwiul sys@a@iu GCamre
Qsrensulanans: sarsd(Hs. ‘

; : -
1.1.2001 768 By o A 1,00,000
1.1.2001' p5a® § eflusgl pL-bs ;_r;rrerr cuanT Ga;rrm@g,m 1,560,000
E) | ~ 50,000
2 pLEH Qewayser - | ' 130,000

edpuener 1.1.2001 g § lusg (I_BI_‘I'_FJ(Q; BTeT eueny | 2,40,000
Qurgs b efhuemer g 25% o
TEpAlw srsdlem Logﬁuq ¢h. 19,500

From the following details of a merchant, calculate the results
for the year ended 31. 12. 2000

1-11.2000 31 10.2001

Rs. Rs.
Cash . .200 - 500
Bank 1,800 2,500
Stock ‘ 6,000 . 5,000‘
Accounts receiv;able 11,200 12,000
Fixtures : 2,800 2,800
Machinery. 18,0000 17,200
_Accounts payable ‘6,000 l‘ 4,000
Loan from a friend . 4,000 4,000

Durmg this year he introduced Rs. 5,000 as additional capital
and has drawn Rs. 500 per month. Interest due to fr1end s loan
Rs. 120. Provide doubtful debts at 10%.
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S grggeir aréviicufler Qoitimie) Deraumorn @smeans Qaras®
elwrunys samse, @omu Bl G smise wHmb Smuy Heads
GHMUGearh gwri Qais. .

~

Qarerpsd LoOnb eApuamen

WE Wr
16,000 30,000

sLammaflseT wHmid sLaBECsTT 3 250 2,100

SET(@THLILq.&ET

Fn.60l

s

&LDLIGTID

o ot ghm& Gee QFway |
CuéveuamgLiLipm

Qeuell gips Qo Qrway
LT ) a
UTLang

upue QFowe ser :
Qué&sd

&L lg L_RIGET

Quipdlyd

QsT_&as FradlmLriy

FM&sL L dser :

(<34) ﬂgmm QUTLens ¢, 30

1,300
6,500
10,655
2,520
275
3,000
500
150
500
160
2,750
14,000

" 2,000

5,850 .

45,755 45,755

(ég,) peenl g eausdu sl e 20
(@) Qupdyd Bsrer Csuiomend 10%

(rr)

(2)

BWSELGT 815 5. 500
Ppds srEHmLLy @ 6,000 :
(2er) SLefpCamAIBHE eriumTEsLILEL SeTEnLy. 5%
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15.

16,

17.

From the following particulars, prepare Machmery account for

'3 years under straight line method.

Price of the machine Rs. 36,000 -
Freight charges Rs. 2,500
Installation charges Rs. 1,500
Life of the machine 5 years

Genaumb  edugtismens  Qamar( Bupdrs s Sanan epa)

- RATOS@HES CHTGaT( Wwapuded swrt Qsiis.

Qupdrsder elee ¢m. 36,000
&EISS SLL_amb e5. 2,500

Qunmsgisad Qsowey . 1,500

BupBrsHen ey sman 5 syer@sdr

Distinguish between fixed instalment system and reducing

balance method of dépreciation.

foo oo wop Lipbd GEDbE  Qsd @@uu e
Coliwransams CalpLiPssis.

" Find out the total purchases for the year 1999 on the basis of the

following particulars :

Rs.
Opening creditors ] 37,000
Opening bills payable - . 22,000
Closing creditors 39,500
Closing bills ‘payable ' 18,000
Cash paid for bills payable during the year - 80,000
DiSQc;unt received from creditors ' 1,370
Cash paid to trade creditors during the year 39,950
'Césh pur(';hasés made during the year 32,540
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. 18.

19.

(SletreumLd 6l Liyrhiger c@m:;uuaouuﬁ]a) 19991b cfgbmr@a;@rﬂu Qwrss
GaraTpsd Ggrasufaneands smems.

€.
Qar_ss sLaiBGCsmT 37,000
Q&5 QeusssnENL wIHHES () 22,000
Omid s afECanit 89,500
BQmnid QeausgsHE N LIHMIES G 18,000
b5 gD AeQsesSHS L LIPNFE KLDS
QegsHw Qrirssd 80,000
sLafBGsmiLb QU HeTEnHUIy 1,370
 SApE e sLTECTHES Selss Arrésh 39,950
SIbS Y66 QrTEs QEmeTipged 32,540

On 1.1.2000 Gopal purchased a machinery under Hire -
Purchase system. The down payment was Rs. 10,000 and the
balance is payable on three annual instalments of Rs. 10,000
each. Interest is to be charged at 5% p.a. Calculate the cash
price.

Gamumed  erarueu @LLIIB;@LTLD garhlear eurLas QaraTipse

empulleh 1.1.20006) eurmmdlanit. oL arg QsTeswis . 10,000
Gagyb uTsSS Qg,rrem;ufﬂsmm QPG| FEUGHETEETTS ¢F. 10,000 GigLd

Osgiss @uUs ~Osrardlpri. ey ar@éE 5%  Aprss

aleveullener sanrddHis.

From the following, find how much is to be shown in Income and
Expenditure account, for the year endmg 31.12.2000 against
subscription:

Subscription received during the year Rs. 14,340
Subscription outstanding on 1.1.2000 Rs. 1,200 .
Subseription outstanding on 31.12.2000 Rs. 1,500

! Subscription received in advance on '1.1.2000:R,s. 900 )

Subscription received in advance on 31.12.2000 Rs. 540
Gemeumeuamalpflelimbs, 31.12.2000 mrGerm®  @plgeuenLujbd

Caumeumly QEeilans samsdld aramissiiu@ib. FhsT Geramsamu

sasS (H&. -

b5 peimgd QU sBST en. 14,340
-1.1.20006 Hlgyenauuied 2 crer #Bsm em. 1,200

31.12.20006 Flgyeneuufed 2 drer #hsm . 1,500
1.1.20006 @peitgnt_ty Qubp ST o5 900
31.12.20006» pemmanl g QUDD FHsT em. 540
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20.

SECTION C — (3 x 10 = 30 marks)
Answer any THREE questions

From the following Trial balance of Shri. Rajan prépare Trading
and P & L account and the Balance sheet.
‘ Rs. Rs:

Purchases and Sales 16,000 30,000
Debtors and Creditors 3,250 2,100

Discounts 1,300
Wages 6,500
Capital - 10,655
Salaries 2,520
Carriage inwards ’ 275
Overdraft | 3,000
Carriagé outwards’ 500
Insurance 150
. Rent 500 L
Sundry Expenses 160
Cash 2,750
Buildihgs 4,000
Machinei'y: 2,000

Opening stock - 5,850
| 45,755 45,755

Adjustments :

(a) Rent due Rs. 30

(b) ' Insurance prepaid Rs. 20

(¢) Depreciate machinery by 10%

(d) Reserve for doubtful debts Rs. 500
(e) Closing stock Rs. 6,000

(® Discount expected from creditors 5%
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